N = 0 &8 AFH Y & A AN
20208 & 20& LB H EE2HFA
2N ERHSA
H: HMSAHH (EEANSAY)

Ciol: Qe ol (ZRASA) (el @)
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
EBHSA 7,178,787 7,060,297 118,490

2 237,550
Al 531,746
- 6,409,491
HHSIHU(EEMNSA) 329,333 326,918 2,415
OlE2HHI(EEN=EY) 288,389 278,958 9,431
QIHAAY (EEMEEY) 288,389 278,958 9,431
101 @121l 286,529 277,098 9,431
02 JIEt& E % 50,955 61,497 N 10,542
OLetAIHM(72) 50,955
—-J23 3,559,410& x 14 «12& 42,713
—tE=Y 1,440
il < Xt 40,000& x1H x12& 480
CHISIE
(20,0002 *1H+60, 0002 19 )« 12& 960
— ol g sy 50,000& *1G +x12& 600
— JHZAH| 130,000& x 15 x12& 1,560
— A2t 22 10,509 *30AI 2tx1H x12& 3,784
— GII2 A
3,559,410 «84%*86%*1/30%x 10 «1H 858
03 I HL22 XHE % 235,574 215,601 19,973
OFYEEESHEA(Y), 29LHIA(1H) 78,064
—-J23 2,109,700& x2H x12& 50,633
—AZ2tZ224
10,716 *1.5%30A| 2t *x2H x 128 11,574
RPN E ===y 10,7162 *8Al 2t x2H x 10 1,715
— H@E S0ty 2,531,640& x2H 5,064
824 1,898,730& x2H 3,798
— Al 130,000& x2H x12& 3,120
—Its4 2,160
bl < Xt 40,000 x2H x12& 960
2=
(20,000 x2H+60, 0002 »1H )« 12& 1,200
OSAMI|=02(3Y) 134,797
—-Jl2= 2,394,590& x3H x12& 86,206
— A2t z2exd
12,079& *1.5%30A1 2+ *3H x 12& 19,568
—HRI+E 12,0793 *8Al 2t *3H x 10 2,899
— @E FItHI 3,873,130& x3Y 11,620
—&d2Y 2,394,590& x3H 7,184
=Ea s 130,000& *x3H x12& 4,680
—tExY 2,640
b < Xt 40,000 x2H x12& 960
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EBEHsA
HM: HM2HAH(EENHNSL)
Chel: ol oy (EEASA) SERED)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
AESPTETTES
(20,000 x4 460,000 * 1 )x12& 1,680
(@ZIn R=R=x 22,713
—A2AdEE 212,861,000& *3.7% 7,876
— 2003 212,861,000 *4 .5% 9,579
L == 212,861,000 *1.6% 3,406
— A EE 212,861,000 «0.87% 1,852
204 2R 4= A H| 1,860 1,860 0
02 238 X4l 1,860 1,860 0
OYetAIIM(72) 155,000& » 1 x12& 1,860
U (EEM=E4A) 40,944 47,960 AT7,016
2EHH(EEMSA) 40,944 47,960 AT7,016
201 2Et2H Y| 22,574 23,630 A 1,056
01 AP 2t 2] H| 22,574 23,630 A 1,056
OS89 Lbt=sH| 9,816,000 *95% 9,326
OJI2gsHEZ20AH| 13,248
— Ut 8,000 x17H x53| x12& 8,160
— J|EtZ 8,000 x5H x53| x12& 2,400
— XA 8,000 x2H 1435 x12& 2,688
202 044l 13,680 19,440 A5,760
01 2L Y| 13,680 19,440 N5,760
OJIl2gx=sH= 20| 60,0002 19 x12& 13,680
203 &R F & 3,990 3,990 0
04 EASHEYRFAH| 3,990 3,990 0
OBNM2g9I2=&| 350,000 x12& *95% 3,990
405 KHo&HFE S HI 700 900 A 200
01 XAt 2 E F S| 700 900 A 200
OgydI&E 2 (CHA) 700,000 =1CH 700
Walle REES 843t 1,259,764 1,482,436 N222,672
=R FAEEE 578,334 617,306 N 38,972
20N &2 82 243,634 243,806 N172
201 gEt24Hy| 229,084 229,256 N 172
01 AP 2t 2] H| 226,584 226,756 N 172
Ogt4=2H| 226,584
—AME2(RNY) =2 15,0002 1602 x12& 28,800
— N2 (E2) =2 17,000@ x990 2 x12& 18,360
—E8E T ARY 200,000 x5 x12& 12,000
— 2 EEA 2| 100,000& x12& 1,200
—E22 ANE A 500,000& x12& 6,000
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2N ERHSA
Bu: jauds PHES BHE
Sl 3ol NHER £ CEEEED
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
— 24 ZEOIC E2X M
20,000,000& 20,000
— &0 EEAC HH 1,100, 000& *53| 5,500
—0aNd 22 2% 173+10,000& =23 123 4,080
— 72 & 752 * 11000 #5022 *52= 21,450
oYy 700
— AAMT A ROA BIIRIY 49
100,000 »7H x 13| 700
Ct&st BHME 88 2 430,000 522,000 292,000
201 2et2d] 430,000 500,000 A70,000
01 At 2teltl 430,000 500,000 A70,000
OUE0IEANE 28 REEE 130,000
—XotE 21 80,000,000& 80,000
—HOE & UG=sdEgda 20
50,000,000& 50,000
Ozectel & Mg 22 1 300,000
—QIHY & SNSZ 1 200,000, 000& 200,000
—dZE &0 100,000, 000& 100,000
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01 At 2teltl 2,700 3,400 A 700
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— 2L AE0I2 B HA=E
2,000,000& 2,000
Oo=24d=+¢ 700
—MetN EIOtRARA =%  100,000& 7H x13] 700
02 =224l 77,000 95,800 A 18,800
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—EHO0IX &5 ¥ =Y AEZ
2,000,000& 2,000
OA&ZEHl s X bl 75,000
— SHOIX AAE SXNE 75,000,000& 75,000
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—dAaNsE 224 200,000 =122 2,400
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FN: BEMSA
M MEsoizAs
& 23 J|g 25 2e (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
405 XHoHF S HI 53,900 293,000 A 239,100
01 AL ESFH S 53,900 293,000 A 239,100
OYd VIL == &Hl XAl 53,900,000& 53,900
degeolze 5 2 22| 1,048,492 765,446 283,046
201 L2l 382,352 302,387 79,965
01 At 22l 115,549 86,602 28,947
O e8| 113,569
—HHPRLE S/W 7L 43,855,240 43,856
— WiPC XI2101 &2+ 2toldA 2
10,434,300 10,435
— GHAL S/W SH2F 2ol A F
20,285,000 20,285
— 222E M&E A User License(50)
3,317,820 =44 13,272
— SEEAZMAIAL Agent
2,815, 120& »90H 25,337
-0z S¥E 6,400& 53| x12& 384
Oogxtz 1,980
— S8 gx= 165,000& 12 1,980
02 2524l 266,803 215,785 51,018
OAl&ZEHl s X bl 266,803
—&a 2 HERZD EHl KXE=H
249,882,000 249,882
—SEMEAEX(UPS) S X E=Hl
1,775,660 1,776
—g2a5) RN 1,844 ,880& 1,845
— JIEFE&D1D] RAE=HI 4,300,000 4,300
—UHE/Za 225 7Y 9,000,000& 9,000
401 Al B2 28I 19,976 20,000 A24
01 A& HI 19,976 20,000 AN24
O™ LA HMI| S AL 19,976,000& 19,976
405 TtHabF S| 646,164 443,059 203,105
01 AL EFH S 646,164 443,059 203,105
O E S FH SHI 646,164
— g8 ZFH 7 1,200,000& »260CH 312,000
—PCOHIEE HAM =5 AAE WX
57,000,000& 57,000
— L5 W2 AX UWERKZA FHl WH
154,880,000 154,880
— H2HEAH(ZEZ) LdSsEHI(VPN) L Xl
23,650,000& 23,650
—SYMEAEX(UPS) 0l=3t 39,314,156 39,315




FN: BEMSA
Hu: P AU
Sl HEE JlY & B CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
—UHERZD EcfE 22 AZEYN QOS 0K
59,318,600 59,319
SHAIE olZet R 22 1,308,236 1,110,390 197,846
Al 153,981
- 1,154,255
HESAAE Jg2xE & |2 1,308,236 1,110,390 197,846
Al 153,981
- 1,154,255
ZHCCTV €% & 29 100,000 11,701 88,299
Al 100,000
401 AIEHI L 201 100,000 11,701 88,299
Al 100,000
01 A& tl 100,000 11,701 88,299
OoggE CCTV 8x(fh XNG&HAE =20l
&h) 100,000, 000& 100,000
Al 100,000
FESAAE JlgRs ¥ |22 268,000 282,285 A 14,285
201 YEtS | 246,720 253,243 16,523
01 At 22l 3,984 4,112 A 128
OgBt==&H| 3,984
- 7Y 50,0003 x12& 600
—NEE2 S¥R 6,400& x53| x12& 384
—Shzd ARF 7Y 250,000& =128 3,000
02 2324l 242,736 249,131 A6,395
Ozs&22= & HA 220,440
—DJEBEAY SHES
9,000,000& x12& 108,000
— U 823 Y dotN SRS
2,136,000& 123 25,632
—HEEG SRS 5,000,000& x12& 60,000
—MMS AtE = 1,200,000& 128 14,400
— 3320100 S&2S
33,000 *7 2 +12& 2,772
— & AHOETV AIEZ 11,0008 +73CH <12 9,636
OAIE ZHI S X 22,296
— U EESHANE |FXE S
50,000& *3002] & 15,000
— A SHMUIA(MIBA, =5, 2
AINAE SXES A 483,0002 128 5,796
—g2gsll A2 9 125,000 <122 1,500
405 XHoHF S HI 21,280 29,042 ANT,762
01 AL EZFH S 21,280 29,042 NT,762
OZFE S elmet &= 21,280
—=& UXE 21 20 21,280,000 21,280




2N ERHSA
d: SAAE et 5 2
Sl FESMAL JURE U Xz (B9 ®R)
= - = 4 &
SH BB (3H) - NRAE - BAS of 4 o4 il HI RS2
S 365 4EHMME 2E 940,236 816,404 123,832
Al 53,981
- 886,255
201 £et23E | 841,067 735,771 105,296
Al 13,728
- 827,339
01 At 22l bl 360 360 0
ogxxz 360
—E7 365 MEAMME H4I| AXE
30,000& »12& 360
02 524t 840,707 735,411 105,296
0332 £ MA 674,928
—CCTV 2= 88,000 x580CH «12& 612,480
—CCTvV &JIes 7,000 »580CH x 12 48,720
— x5 u CCTV al&d& 88,0002 1304 «12& 13,728
Al 13,728
OAZ2 &8I 7 X H 165,779
— 2 CCTV SE= X2+ 9,353,630 ~12& 112,244
— ST 365 MEAMUH ALY R+ 2
= 4,461,167 128 53,535
307 glztol & 40,253 39,058 1,195
Al 40,253
05 22t & =2 40,253 39,058 1,195
O=x=Sstu CCTV 2H 2P l2AH|
40,253,000& x1H 40,253
Al 40,253
308 XXM SO0IH 2,814 2,275 539
10 I/ 2S0thetE & S 2 & A I 2,814 2,275 539
OS7 365 SEMHE 28 ALY
2,814,000& 2,814
405 At&tF S HI 56,102 39,300 16,802
01 &AL =ESFH=H 56,102 39,300 16,802
OS5+ 365 &otMHE 2/ PC WA
1,809,720 «31CH 56,102
THEHE N 102,979 76,346 26,633
Al 42,490
- 60,489
WAAs SHIZA 102,979 76,346 26,633
Al 42,490
- 60,489
SHEAMN =¥ 102,979 76,346 26,633
Al 42,490
- 60,489
101 1244l 26,840 17,105 9,735




2N ERHSA
M DHEHZA
Sel LHAE SHE (ol @)
SN ED B (3H) - MEAY - BAS Ol &F o4 ﬁlgﬁ HDZ2
T 13,220
- 13,420
04 JI2ZtHIZ22NEE S 26,840 17,105 9,735
OALSHZAI ZAE B 14,204 ,000& 14,204
Al 7,102
- 7,102
OAMNSHZEZAI H2RS2 1,098,000 1,098
Al 549
- 549
OCIEAIS X EZAF A 22 10,910,000 10,910
Al 5,455
- 5,455
OCIAEAIS XN EZA HE2X=S2 628,000 628
Al 314
- 314
201 LBt | 76,139 59, 241 16,898
Al 29,070
- 47,069
01 AP 22| d| 74,139 59, 241 14,898
OAMYHEA S SEAE B 37,148,000 37,148
Al 18,574
- 18,574
OUMANBINEZAN TSEANY 22
20,891,000 20,891
Al 10,446
- 10,445
OQFMAMSIKNEEZA T2 A O]
100,000 100
Al 50
- 50
OBIAN & g2t 12,500
— AMYHIIZESAHZA 35,000& 1008 3,500
—SRAI)S2SHHEE 30,000& 2005 6,000
— Ol A AFS| K| & = AF 30,000& 1008 3,000
Ogbt=2H| 3,500
—EHEAN E2H| 1,500,000 1,500
—EH XA 24| 2,000,000& 2,000
02 ZZ2H 2,000 0 2,000
OSHZEAZE JEt A E2H| 2,000,000& 2,000
FOEsHNE 4 € XN 2,805,720 2,623,899 181,821
= 237,550
Al 335,275
- 2,232,895
2y MEBHSHE KA 2 X 144,154 312,290 168,136
FEEI(H) =E=2E s3I 124,154 123,290 864
203 R F & 950 1,900 A 950
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FN: BEMSA
g FozEsNE 54 € N
Helr dMEHs 245 (Sl & &)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
- 22,000
09 HALAHIX RS 30,000 16,000 14,000
O7330 Meisns 29 30,000,000& 30,000
Al 8,000
- 22,000
Ot A2 A Z A 46,000 46,000 0
201 Let2d] 1,000 1,000 0
02 =224l 1,000 1,000 0
OA&ZEHl Sl 1,000
~OIEALNEDY AT AL
1,000, 000& 1,000
307 gl2tol & 45,000 45,000 0
02 PIZHEHAHE L 45,000 45,000 0
OOtEAZMEna 2% K& 45,000,000& 45,000
HEAMENSXEX BHX(2SXHA) 135,072 121,152 13,920
= 57,936
Al 36,168
T 40,968
307 glz2+ol & 135,072 121,152 13,920
= 57,936
Al 36,168
T 40,968
02 It M AHEE 135,072 121,152 13,920
O MENSXNEX X (E2SXH)
130,272,000& 130,272
= 57,936
Al 36,168
T 36,168
OWSNMETNSXS X BHXI(HRIHL08l)
4,800,000& 4,800
UM S ZA HW(BSXH) 230,948 121,152 109,796
= 98,974
Al 61,787
T 70,187
307 glz2tol & 230,948 121,152 109,796
= 98,974
Al 61,787
- 70,187
02 It A AMHEE 230,948 121,152 109,796
OLEIMEHSXA IR (22SKH)
222,548,000 222,548
= 98,974
Al 61,787
T 61,787
OLBtMEHSX A HHXI (HMHE0H])
8,400,000& 8,400




2N
X ZH -
L= B

el

EZM=s4
TFUESHE 4 &€ A2
d42Hs 243

= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
STHHsE 2N 22,080 24,480 A2,400
Al 10,440
- 11,640
307 gl2tol & 22,080 24,480 A2,400
Al 10,440
- 11,640
03 BIAHNHE2IHIEL 22,080 24,480 A 2,400
OSFH=a AAR=2Z el
22,080,000& »14H 22,080
Al 10,440
- 11,640
HdEHs2LE AE 76,245 57,876 18,369
203 &2 =&l 1,900 0 1,900
03 AIHZ=XH R =AH| 1,900 0 1,900
OM=sg4ds A3 =8 2,000,000 x95% 1,900
307 izl & 74,345 57,876 16,469
02 It M AHE X 23,100 36,100 A 13,000
OSFH=E3 MU L A XIAE
23,100,000& 23,100
03 BIAHNHE2IHIEE 51,245 21,776 29,469
OsHd=3 244l XN& 51,245,000 51,245
AZIAH0IEA X 91,520 73,600 17,920
= 64,064
Al 13,728
- 13,728
307 21201 A 91,520 73,600 17,920
= 64,064
Al 13,728
- 13,728
02 LB AAHEX 91,520 73,600 17,920
OAaz=2x0EA XA 91,520,000& 91,520
= 64,064
Al 13,728
T 13,728
FHAAZX2AX0IEA XA 23,680 0 23,680
= 16,576
Al 3,552
- 3,552
307 gl2tol & 23,680 0 23,680
= 16,576
Al 3,552
- 3,552
02 It M AHE X 23,680 0 23,680
OZFMgAEZ=AX0IEH K& 23,680,000& 23,680
= 16,576




2N
X ZH -
L= B

el

2rs4d
UEIME 54 &€ X2

. _ = SfE|
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
Al 3,552
- 3,552
N E 8+ A& 15,000 15,000 0
301 et A= 15,000 15,000 0
12 JIEtE A& =2 15,000 15,000 0
O&MME =& X 15,000, 000& 15,000
2O EHEH HSAE 29 846,771 994,749 A 147,978
308 XHXIGHH SO0l & 818, 121 812,499 5,622
10 21 2SHUSHEAXERAE AL 818, 121 812,499 5,622
O=20UMYRLMH 29 818,121,000& 818,121
401 Al HI L £ 0HHI 19,200 146,000 A 126,800
01 Al& H| 19,200 146,000 A 126,800
OWEZAI D14 & 924 EXZ2A
19,200,000 19,200
405 KHoHFE S HI 9,450 36,250 A 26,800
01 XA 2B F S| 9,450 36,250 A 26,800
O=0x=4dgH 228 7Y 9,450
—ZEH € 2UH 1,100, 000& «3CH 3,300
-4l AeA 3,350,000 =1CH 3,350
— ZEIHX 800,000 =1CH 800
— gr S A 2,000,000& 2,000
MNEASSHIE 29 814,700 712,700 102,000
Al 200,000
5 614,700
=3 AAESSEIE A 814,700 712,700 102,000
Al 200,000
5 614,700
201 et 3,500 3,500 0
01 AP 22| H| 500 500 0
Ogbt=2H| 500
—AHFSH2 500,000 500
02 232 H| 3,000 3,000 0
OXSLHEH (XS SFR0 L HH|IH|)
3,000,000& 3,000
301 dEtE M= 811,200 707,200 104,000
Al 200,000
- 611,200
V= - 2SESE243 811,200 707,200 104,000
(@)eiralsll 511,000
—2S1¥, DX1Y, &48" ol2d|
511,000,000& 511,000
Al 200,000




SN BEHS
M ARSME 4 € N
Sel HYRSHIE 29 (S &2)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
311,000
o223l 238,200, 000& 238,200
OWa &JHl & ga2a=s 62,000,000 62,000
HEAE &3 243,350 42,700 200,650
HEAL &5 & 22 243,350 42,700 200,650
201 Ypte | 16,350 15,700 650
01 At 2teltl 4,050 3,700 350
O+t 3,000
—HsAd 2282 2 3,000,000& 3,000
ozg=+¢ 1,050
—HSIEIS A &Y
70,0003 x5H +33] 1,050
02 =224l 12,300 12,000 300
O3 & HA 12,000
—HSANE 23 332 & MA
1,000,000& »12& 12,000
OMSAE HEEA(HI) =22  300,000& 300
206 T2 HI 2,000 2,000 0
01 =8l 2,000 2,000 0
Oo=2s® 23 8 #¢ 10,000& 2001 2,000
401 Al HI L RO 225,000 25,000 200,000
01 A& HI 225,000 25,000 200,000
OZU HMsSAME RAE= 25,000,000& 25,000
OZUHUAZ XCIDE BAH(FOUEN 0l &)
200,000,000 200,000




